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(1) SeaEk:

S 6 F S5 HF HEIE S EEE (%) 5ETHRLL
E3 £ i3 = 1,717 1,705 12 0.7 -184.6
3t S # 42 31 11 355 7.4
[ & e 1,891 1,875 16 0.9 -223.2
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(3) EREHSIREIFE 4R
S 6 & S5 & IR 1B (%)
T8 REHR GER B EEHR GEH| HH EEHR GEH HH REH GEH
ES = & 1,717 42 1,891 | 1,705 31| 1,875 12 11 16 0.7 355 0.9
~ 1= = 295 1 320 271 1 289 24 31 8.9 10.7
:}& O b 514 7 558 576 7 620 62 62| -10.8 -10.0
e g 809 8 878 847 8 909 -38 -31 4.5 3.4
™ HEHRE(%) | 471 190 464 49.7| 258 | 485 —————e 0
T = B T s&| 347 7 401 277 5 314 70 2 87| 253 400 27.7
h — P 67 12 69 63 13 61 4 X 8 6.3 7.7 13.1
& = Z[ 494 15| 543 518 5 591 24 10 48] 46 2000  -8.1
(4) FHEHAFELEKR
S 6 & S5 & B B EE (%)
T3 RREHR GEHR BH REHR GEHR| HH REHR GEHR BB REH GEH
=S = [ 1,717 42| 1,891 | 1,705 31 1,875 12 11 16 0.7 355 0.9
N ¥ - & m | 36 1 35 44 4 41 8 =3 6| -182| -750]| -14.6
~ B # d| 117 5 116 105 7 99 12 2 17 114 286 17.2
% 0 i 76 3 73 47 48 29 3 25| 617 52.1
£t 229 9 224 196 11 188 33 2 36| 16.8  -182  19.1
B H & (> 28| 200 3| 200 228 230 28 3 30| -12.3 -13.0
; A E 89 90 87 89 2 1 2.3 1.1
4 € O 34 34 49 1 49 -15 5 15| -30.6 | -100.0 -30.6
= B 323 3 324 364 1 368 -4 2 44 113 2000 -12.0
IE m & X 50 5 66 47 4 69 3 1 -3 6.4 250 43
= B %[ 403 1 494 391 2 463 12 5 31 31| -50.0 6.7
= H £ > 58| 333 2 376 364 2 409 -31 33 -85 -8.1
A A I | 107 1 119 102 118 5 1 1 49 0.8
EH E T B 47 48 65 70 -18 22| 277 -31.4
O b 174 196 144 1 168 30 5 28| 208 -100.0| 16.7
£ 1,114 9 1,29 1,113 9 1,297 1 2 0.1 0.2
= m B = 51 21 44 32 10 22 19 11 22 59.4] 110.0  100.0
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(5) HEBEHAFELIKRT
S 6 & S5 & bi-PiEE B (%)
uEEY MEN SEH 2S5y BER SEH|vssy AR SEH 2354 BEH 5EH
=S = [ 3,383 42| 1,801 | 3,378 31 1,875 5 11 16 0.1] 355 0.9
0 1= 6 15 2 12 4 3| 200.0 25.0
FN OFE A 29 38 39 44 -10 6| -256 -13.6
g T &£ 35 41 39 44 -4 3| 103 6.8
B 70 94 80 100 -10 6| -125 6.0
= & &| 66 71 81 73] 15 2 185 27
= =3 E[ 404 2 263 477 332 73 2 69| -15.3 20.8
(356434 -| 305 2| 139 357 191 -52 2| 52| -14.6 -27.2
= i Z[ 809 27| 360 829 21 369 20 6 9] 24| 286 24
5B 3N-| 644 10 180 660 7 178 -16 3 2 24 429 1.1
z D) B[ 2,034 13| 1,103 | 1,011 10 | 1,001 123 3 102 6.4 | 300 102
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